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Sample Paper – 2008

Subject – Biology

Class - XII
Time : 3 hours
Max.Marks 70

General Instructions:

1.
All questions are compulsory.

2.
This question paper consists of four Sections A, B, C and D. Section -A contains 


8 questions of 1 mark each, Section -B is of 10 questions of 2 marks each,

 Section -C has 9 questions of 3 marks each and Section D is of 3 questions of 5 marks each.

3.
There is no overall choice .However, an internal choice has been provided


in one question of 2 marks, one question of 3 marks and all the three questions of


5 marks weightage . Attempt only one of the choices in such questions.

4.
Wherever necessary, the diagrams drawn should be neat and properly labelled.

Section A

1.
How many eggs do you think were released by the ovary of a female dog ,which


gave birth to six puppies? How many eggs do you think would have been released


by a human mother , who gave birth to identical twins? Would your answer change


if the twins were born fraternal?
[1]

2.
The diagram below show a human egg and a human sperm.
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[a] Why is the egg much larger than the sperm?


[b] What is the significance of the two labeled parts?
[1]

3.
Why do you think plants are more readily manipulated by genetic engineering


than the animals?

[1]

4.
If the frequency of the parental form is higher than 25% in a dihybrid test cross,


what does it indicate about the two genes involved? Name the condition and the 


person who coined the term for it.
[1]

5.
The gene for haemoglobin Hb has two codominant alleles: HbA (the normal gene) 

and HbS (the mutated gene). How many phenotypes it can show ? Name the three 


phenotypes.

[1]

6.
Some crop varieties bred by hybridization and selection ,for disease resistance to 


Fungi ,bacteria and viral disease are given below . Complete the table.
[1]

	Crop
	Variety
	Resistance to disease

	Cowpea
	Pusa Komal
	_______________

	___________
	Pusa swarin (Karan Rai)
	_________________

	Wheat 
	_______________
	Leaf and stripe rust, hill bunt


7.
Genetic engineering is a very young discipline, and is only possible due to the development of certain techniques from the 1960s onwards. Two such  techniques are 


[a] Restriction enzymes   [b]  PCR. State the purpose of each technique.
[1]

8.
The bacterium Agrobacterium (tumifaciens) is found naturally in soil. It is able to infect over 1 000 species of broad-leaved plants, entering by wounds (for example, those made by insects),yet this bacteria is considered so useful in biotechnology ,

 how?
[1]

Section B
9.
Do you think reproductive health has improved in our country in the past 50 years?


If yes, mention four areas of improvement.
[2]

10.
Compare and contrast: isogamy and anisogamy. What are some examples of organisms that have each kind of gamete production? 





[2]

11.
When a red flower of Antirrrhinum plant was crossed with a white flower of Antirrrhinum plant, the F1 offspring had pink flowers. Mention (a) the genotype of F1 plants and (b) the reason why it did not bear the parental red or white flowers?     


Or


In a man brown eyes (B) are dominant over (b) and dark hair( R) dominant to red hair (r) . A man with brown eyes and red hair, whose father was blue eyed, marries a woman with blue eye and dark hair whose mother was red haired.They have four children. Give the genotype of the parents and phenotype and genotype of the children
[2]
 

12.
What conclusion can be drawn from the following pedigree chart?
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            [2]

13.
How is frame shift mutation different from point mutation?
Give an example of


point mutation. What causes mutations?




           [2]

14.
Explain the four types of barriers of Innate immunity.                                             [2]

15.
Diagrammatically show the steps in the formation of recombinant DNA by action action of restriction endonuclease enzyme – EcoRI.




[2]

16.
Crystals of Bt toxin produced by some bacteria do not kill the bacteria themselves,

but kill insects such as beetles and mosquitoes etc. Explain why?
[2]

17.
Write a short note on RNA.
[2]

18.
According to an experiment performed the following results were obtained:

 S strain                            Inject into mice                       Mice die


R  strain                           Inject into mice                       Mice live


S  strain                          Inject into mice                       Mice live


(heat killed)

S  strain                          Inject into mice                       Mice die


(heat killed)


       +

            R  strain                           

(live)

What conclusion was drawn from the following experiment? Who performed


the above experiment? Name the organism with which it was performed.             [2]

Section C
19.
Cancer is one of the most dreaded diseases of human beings and is a major cause


 of death all over the globe. Explain the[a]  causes of cancer [b] Tecniques of


detection and diagnosis [c] Treatment and cure .
  [3]

20.
Show diagrammatically the stages of embryo development from zygote upto


implantation in human being.
[3]

21.
Some species of Asteraceae have evolved a special mechanism, to produce seeds 


without fertilization. What it is called? How does it lead to polyembryony? Explain its significance.
[3]

22.
 Alleles in a gene pool show the frequency according to the values given below
	 
	p= 0.80
Allele freq. of A
	q= 0.20
Allele freq. of a

	p = 0.80
Allele freq. of A
	
	

	q= 0.20
Allele freq. of a
	
	



What are the genotype and allele frequencies in the population?  Is the population following Hardy-Weinberg equilibrium calculate the result? State four conditions under which the Hardy-Weinberg equilibrium may not be applicable.  

[3]

23.
How did Hershy and Chase differentiate between DNA and protein in their experiment while proving that DNA is the genetic material?



[3]
24.
Discuss the role of microbes in sewage treatment.




[3]

25.
Differentiate between spermatogenesis and oogenesis.

Or


Expand STD. Name four diseases that are classified under this category. How do they pose a major threat to a healthy society?





[3]

26.
Acquired immunity is pathogen specific. Explain the different working mode of

primary and secondary response in the body.





[3]

27.
What is DNA fingerprinting? On what principle does it work? Mention its two


applications.









[3]

Section D

28.
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Identify the figure and explain the features that are required to facilitate cloning 
into a vector.


Or


 Some animals have their DNA manipulated to posses and express  a foreign gene.

What are such animals called? Why are such animals being produced? How can 


man benefit from such modifications? Explain five common reasons.












[5]

29.
Plant breeding programmes are carried out in a systematic way world wide. Explain 


the five main steps in breeding a new genetic variety.

Or


Do you think friends can influence one to take alcohol/drugs? If yes ,how may one

protect himself or herself from such an influence? Once started why is it difficult to


get rid of this habit? 








[5]

30.
Explain the major evidences of evolution briefly.
Or


In a medium where E.coli was growing , lactose was added ,which induced  the lac


operon .Then , why does the lac operon shut down after some time after the addition


of lactose in the medium. Explain






[5]
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